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1 126 388 3,181 744 388 4,052
BEHEFH
1,073 13,938 3,177 105,228 21,851 179,465 47878 6,630 4,123 3,783 78,102 309,044
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9A RETGRIRIE)
a5 ) 13- IN-1ON) B () :3-IN-10N!
R3 R2 J24:3 R3 R2 J5d 1 R3 R2 Jad 1 R3 R2 Jad 1
&t 1,704 1,685 19 1,562 1,573 -11 15,476 15,472 4 14277 14,380 -103
2R 1,263 1,158 105 1,163 1,090 73 11,003 10,962 41 10,180 10,228 -48
BB T 103 118 -15 91 107 -16 940 989 -49 877 951 -74
—fRas 166 233 -67 157 219 -62 1,864 1,960 -96 1,751 1,844 -93
Z0ith 172 176 -4 151 157 -6 1,669 1,561 108 1,469 1,357 12
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BN 5 (1) BEIAE (N) BN 5 (1) BEIAE (N)
w3 R3 R2 = R3 R2 e R3 R2 Ja 3 R3 R2 e
&&t 5 11 -6 1 4 -3 81 91 -10 51 59 -8
NKEY 1 -1 1 -1 1 5 -4 3 12 -9
REBEH 3 3 0 1 1 0 42 37 5 25 22 3
KEEI 1 1 0 0 0 0 6 7 -1 5 6 -1
HICk DB 1 -1 0 0 6 -6 2 -2
BYMEICKDEEW 1 -1 1 -1 4 8 -4 2 4 -2
HARUVERER 0 0 2 5 -3 2 -2
Z D4t 1 4 -3 0 1 -1 26 23 3 16 1 5
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